
































 
 
 
 
 
 
 
 
 
 
 

    

CHEMISTRY NOTES  

CLASS9_ THE MATTER  IN OUR SURROUNDINGS_ (TERM1) 
 
 
 

Q.1 Camphor disapperars without leaving any residue. Explain? 
Ans. Camphor disappears without leaving any residue because 
of sublimation, as it changes its state 
directly from solid to gas without changing to liquid. 
Q.2 Why do we feel cool when we touch a piece of ice? 
Ans. We feel cool because the temperature of ice is 0 deg C and our body's temp is higher than 0 deg 
C. 
Q.3 Convert the following: 
a) 573 K 
Ans. 573-273= 300 deg 

b) 36 deg C 
Ans. 273+36 = 309 K 
 
c) 373 deg C 
Ans. 373+273= 646 K 

Q.4 Both the process of evaporation and boiling involves the change of state from liquid to gas but 
still they are different from each other. Justify. 

Ans. Evaporation is different  from boiling as evaporation is a natural phenomenon, occurs on the surface 
of the water and also it is a slow process whereas boiling is an artificial phenomenon , it occurs in the bulk of liquid 
and is a fast process 
 

Q.5 Why is Kelvin considered as the best scale for measuring the temperature? 
Ans. Kelvin is the best scale for measuring the temperature because it has no max temp. and it can 
measure temperature to any extent. 

Q.6 How can you show that evaporation causes cooling? 
Ans. When we put some acetone on our hand , after sometime we will feel coolness on our hand because 
the action absorbs kinetic energy from our hand & evaporates and evaporation causes cooling. 

Q.7 What is the significance of boiling point & melting point of a substance? 
Ans. The significance of boiling point and melting point is that it shows the 
purity of the substance. 

Q.8 When we put CuSO4 in water, after sometime we find the soln. turns blue. Why? Also, on heating it 
what change will occur? 
 
Ans. The solution turns blue because of diffusion. On heating the solution nothing will happen. 

Q9.How can you justify that table is a solid? 
Ans. When we apply force on the table it doesn't change its shape because its intermolecules are tightly 
packed , this shows that table is solid. 

Q.10 Arrange the following in decreasing order of force of attraction: Water, Salt, Oxygen, 
Also, state the reason. 
Ans. Salt, Water, Oxygen



 
 
 
 
 
 
 
 

Salt has the maximum force of attraction as it is a solid, followed by water as it is a liquid. Oxygen is a gas so its force 
of attraction is the least. 
 
 

Q11. State characteristics of matter demonstrated by : 

a) diffusion 
Ans. Diffusion involves movement of different particles so that they become intermixed uniformly . 
b) Brownian motion 
Ans.It is the zig-zag movements of the small particles suspended in a liquid in a liquid or a gas. 
 

Q.12 When an incense stick (agarbatti) is lighted in one corner of a room, its fragrance spreads in 
the whole room quickly .Which characteristic of the particles of matter is illustrated by this observation? 

Ans. Particles of matter are constantly moving. 

Q.13 The boiling point of alcohol isn 78 deg C. What is this temperature on Kelvin scale? 
Ans. K= Deg C + 273 = 78 + 273 = 351 K 
 
Q. 14 The Kelvin scale temperature is 0 K. What is the corresponding Celsius scale temperature? 
Ans.  -273 degree Celsius. 

Q. 15 What is Latent Heat of Fusion? 

Ans. The latent heat of fusion (or melting) of a solid is the q uanity of heat in joules required to convert 1 
kilogram of the solid (at its melting point ) to liquid, without any change in temperature. 
 
Q. 16 Define latent heat of Vaporisation? 

Ans. The latent heat of vaporisation of a liquid is the quantity of heat in joules required to convert 1 
kilogram of the liquid (at its boiling point ) to vapour or gas, without any change in temperature. 
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Atoms and molecules

Q1)Calculate the % of Nitrogen in urea(NH2CONH2).

Q2)Law of conservation of mass was discovered by 
    (a) Dalton    (b)  Proust     (c)   Lavosier   (d)  Richter

Q3)Two elements X&Y combine in a gaseous state to form XY in the ratio of 1: 35.5 
by mass. The mass of Y which combines with 2gram of X will be 
       (a) 7.1 gram    (b)   3.55 gram  (c)   35.5 gram   (d)  71 gram

  Q4) Match the following:-
                      Column I                    Column II

                  1 . Sodium             a.  Yellow in colour 
                  2 . Helium             b.  Diatomic 
                  3. Sulphur             c . Soft metal 
                  4. Hydrogen              d.  Noble gas

Q 5 )Give one word for the following:-
    (a)  Metal present in haemoglobin.
    (b)  Reddish brown metal used in making electrical wires.

Q 6) Write correct formulae using given  ions. 
               anions

cations

   SO4 2-      Cl-    PO4
3-      O2-     CO3 2-    OH-      S2-

Na +

Cu ++

Al 3+

Q 7) What happens when : --
  (a)  Solution of sodium chloride and silver nitrate are mixed together.
  (b) Solution of barium chloride and sodium sulphate react together.

Q8) Calculate the molecular mass of CuSO4.5H2O
            [  Cu=63.5 u,S=32 u,O=16 u,H=1 u.]

Q9) The % of three elements calcium, carbon & oxygen in a sample of calcium 
carbonate  is given as:--
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   Ca=40.0%,C=12.0%,O=48.0%
If the law of constant proportion is true, what weights of these elements will be 
present in 1.5 gram of another sample of calcium carbonate?

Q10) What are the features of the Dalton's Atomic theory?  Also mention the 
limitations of the theory .

Q11) Mention four elements which start with the letter B.

Q12) Write the name and symbol of two noble gases.

Q13) What do you mean by molar mass? Calculate the molar mass of sugar?
(C12H22O11).

Q14) What do you mean by formula unit mass? Calculate the formula unit mass of 
potassium carbonate(K2CO3).

Q15) Calculate the number of moles in:--
                  (i)   28 gram of He       (ii)   60 gram of Ca.

Q16) Calculate the mass of:--
      (i)  3.011x 10 32 atoms of O.  (ii) 6.022 x10 23 molecules of O2.

Q17) Calculate the number of moles of iron in a sample containing 10 22 atoms of 
iron?

Q18)Calculate the weight of carbon monoxide having the same number of oxygen 
atoms as present in 22 gram of carbon dioxide?

Q19) What is the mass in 'u' of 10 moles of sodium sulphate?

Q20) What do you mean by Gram molecular mass? Calculate  the mass of 0.72 
gram molecule of CO2?

 

Structure  of the Atom
  

 Q 1) Element having no neutron in its nucleus is
            (a)   Hydrogen
            (b)  Nitrogen
            (c)  Helium
            (d)  Boron
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Q2) Plum and pudding  model of atom was put forward by

            (a)  Goldstein
            (b)  Bohr
            (c)  Thomson
            (d)  Rutherford

Q3) Rutherford's alpha particle scattering experiment showed that:
 (i)  electrons have negative charge.
 (ii) the mass &positive charge of the atom is concentrated in the nucleus.
 (iii) neutron exists in the nucleus.
 (iv) most of the space in an  atom is empty. 

which of the above statements are correct?
  (a)  (i) & (iii)
  (b) (ii ) & (iv)
  (c)  (i) & (iv)
  (d)  (iii ) & ( iv)

Q4) The outermost shell can not have more than
   ( a )   1 e  ( b )  4 e  ( c )  6 e  ( d )  8 e

Q5) In a sample of ethyl ethanoate (CH3 COO C2 H5) the two oxygen atoms have the 
same no. of electrons but different number of nuetrons. Which of the following is 
the correct reason for it?

 ( a )  one of the oxygen atom has gained electrons.
  ( b ) one of the oxygen atom has gained two neutrons.
  ( c ) the two oxygen atoms are isotopes
  ( d ) the two oxygen atoms are isobars.

Q 6 ) Which metal foil was used by Rutherford  in his experiment for  the discovery 
of nucleus?

Q  7 ) Write the value of charge on electron in coulomb.

Q 8 ) What do you mean by shell or orbit? Write the Electronic Configuration of 
Potassium.

Q 9 ) Compare the properties of electrons, protons and neutrons in terms of mass , 
charge & position.

Q 10 ) Name an element which has two valence electrons and is a noble gas?

Q 11 ) What are cathode rays and anode rays?
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Q 12 ) What are isotopes? Give two examples.

Q 13 ) How is the valency of an atom is related to its electronic configuration?

Q 14 ) If bromine atom is available in the form of  two isotopes 79 Br 35 ( 49.7 % ) and 
81 Br 35 (50.3%), calculate the average atomic mass of bromine atom.

Q 15 ) The average atomic mass of a sample of an element "X" is 16.2 u. What are 
the percentages of isotopes  16 X 8 and 18 X 8 in the sample?

Q 16 ) Mention any two applications of isotopes.

Q 17 ) An isotope of Lead has mass no. 211 & atomic no. 82. (  211 Pb 82 ).During 
radioactive disintegration, it gets converted in to an element whose mass number 
remains the same but atomic number increases by one. Will the end product be an 
isobar or not?

Q 18 ) What are the no. of protons, neutrons& electrons present in 59 Co27 and  
108 Ag 47?

Q 19 ) State the new concepts  incorporated  by Neil Bohr in his proposed model of 
an atom. Draw a diagram to illustrate this model.

Q 20 ) Describe Rutherford model of Atom & mention the drawbacks of the model 
as well.

                                              xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
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ASSIGNMENT QUESTIONS  
MOTION 

 
Multiple Choice Questions 
 
1. If the displacement of an object is proportional to square of time, then the object moves 

with 
(a) uniform velocity 
(b) uniform acceleration 
(c) increasing acceleration 
(d) decreasing acceleration 
 

2. The distance time graph of a body coincides with its time axis. The body must be 
(a) in uniform motion 
(b) at rest 
(c) in uniformly accelerated motion 
(d) in zig-zag motion 
 

3. From the given v – t graph (see below Fig.), it can be inferred that the object is 
(a) in uniform motion 
(b) at rest 
(c) in non-uniform motion 
(d) moving with uniform acceleration 

 
 
4. The velocity time graph of a body is parallel to the time axis. The body is 

(a) at rest 
(b) having uniform acceleration 
(c) having zero acceleration  
(d) having non-uniform acceleration 
  

5. A particle is moving in a circular path of radius r. The displacement after half a circle 
would be: 
(a) Zero 
(b) π r 
(c) 2 r 
(d) 2π r 

 
6. A body is thrown vertically upward with velocity u, the greatest height h to which it will 

rise is, 
(a) u/g (b) u2/2g (c) u2/g (d) u/2g 
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7. The numerical ratio of displacement to distance for a moving object is 
(a) always less than 1 
(b) always equal to 1 
(c) always more than 1 
(d) equal or less than 1 

 
8. Suppose a boy is enjoying a ride on a merry-go-round which is moving with a constant 

speed of 10 m/s. It implies that the boy is 
(a) at rest 
(b) moving with no acceleration 
(c) in accelerated motion 
(d) moving with uniform velocity 

 
9. Area under a v – t graph represents a physical quantity which has the unit 

(a) m2 
(b) m 
(c) m3 
(d) m/s 

 
10. Four cars A, B, C and D are moving on a levelled road. Their distance versus time graphs 

are shown in below Fig.. Choose the correct statement 
(a) Car A is faster than car D. 
(b) Car B is the slowest. 
(c) Car D is faster than car C. 
(d) Car C is the slowest. 

 
 
11. Slope of a velocity – time graph gives 
 

(a) the distance 
(b) the displacement 
(c) the acceleration 
(d) the speed 

 
12. In which of the following cases of motions, the distance moved and the magnitude of 

displacement are equal? 
 

(a) If the car is moving on straight road 
(b) If the car is moving in circular path 
(c) The pendulum is moving to and fro 
(d) The earth is revolving around the Sun 
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13. Which of the following figures (see below Figure) represents uniform motion of a moving object 

correctly? 

 
 

SHORT ANSWER QUESTIONS 
 
14. The displacement of a moving object in a given interval of time is zero. Would the distance 

travelled by the object also be zero? Justify you answer. 
 
15. How will the equations of motion for an object moving with a uniform velocity change? 
 
16. A car starts from rest and moves along the x-axis with constant acceleration 5 m/s2 for 8 

seconds. If it then continues with constant velocity, what distance will the car cover in 12 
seconds since it started from the rest? 

 
17. A motorcyclist drives from A to B with a uniform speed of 30 km/h and returns back with a 

speed of 20 km/h. Find its average speed. 
 
18. Draw a velocity versus time graph of a stone thrown vertically upwards and then coming 

downwards after attaining the maximum height. 
 

19. The velocity-time graph (see below Figure) shows the motion of a cyclist. Find (i) its 
acceleration (ii) its velocity and (iii) the distance covered by the cyclist in 15 seconds. 
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20. A girl walks along a straight path to drop a letter in the letterbox and comes back to her 
initial position. Her displacement–time graph is shown in below figure. Plot a velocity–
time graph for the same. 

 
 

LONG ANSWER QUESTIONS 
 
21. An object starting from rest travels 20 m in first 2 s and 160 m in next 4 s. What will be the 

velocity after 7 s from the start. 
 
22. An electron moving with a velocity of 5 × 104 m/s enters into a uniform electric field and 

acquires a uniform acceleration of 104 m/s2 in the direction of its initial motion. 
(i) Calculate the time in which the electron would acquire a velocity double of its initial 
velocity. 
(ii) How much distance the electron would cover in this time? 

 
23. Obtain a relation for the distance travelled by an object moving with a uniform acceleration 

in the interval between 4th and 5th seconds. 
 
24. Two stones are thrown vertically upwards simultaneously with their initial velocities u1 and 

u2 respectively. Prove that the heights reached by them would be in the ratio of 2 2
1 2:u u  ( 

Assume upward acceleration is –g and downward acceleration to be +g ). 
 
25. An object is dropped from rest at a height of 150 m and simultaneously another object is 

dropped from rest at a height 100 m. What is the difference in their heights after 2 s if both 
the objects drop with same accelerations? How does the difference in heights vary with 
time? 
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HOLIDAY HOME WORK 

CLASS     -   IX 

SUBJECT -   CHEMISTRY 

1) Do they prepare worksheet on fair notebook and also learn the chapter. 

2) Prepare a project report on various samples of 

 A mixture  

 A compound  

 An element  

Three of each category, highlighting the main characteristics features of 

element compounds mixture  

3) Prepare a report on “the medicine which are used in preservation of corona 

virus”.  


